Supplementary Material B: Simulated CAV MCMUC results

Continuous treatment of time

baseline 51 (well)] —> S2 (mlld) baseline 53 (severe) ———> 54 (dead)

-26 22

Y N

-40 -AE -30 -28 -20 -1E -0

a0 08 1.2

0z 4
DR
-40 -15
[ARARAN

11 -24 23 -22 21

Mean = -2.3174 Modian - -2.3163 Maan = -2.197 Median - -2.1882

w
= ] 1 & J . ' '
Tl o = o
= l 1 = 2 ' 1
w7 5 e
e = = 2
25 -20 15 -8 05 022 024 026 028 030 032 Q.84

Mean = -1.3373 Modian - -1.3189 Mean = 0.2703 Median = 0.2701

w ]
4 @ 1 1 L 2 | 1
i E S 3 | i B . )
w o o o
o =] e S 7 T
-25  -20 <15 10 0 00 o 500 1000 1600 L - T I | &
Maan = 11416 Madian = -1.141 Migan = ~11.2337 Madian = -11.3475
o . . - . .
b K 1 i L E " 1l |
& - ' 1 i ] |
7 -] T o
a0 28 & .24 .22 2D o &80 1000 1600 -12 10 08 .06 04 02
Maan = -2 617 Madian = -2.5165 Mean = -0.4531 Madian = -0.4853



0g 03

-08 02

-14 08

=30 -20

—12

time S2 (mild) -—-> S4 (dead)

Ll

040 04

15

aq

Qg 03

[=X]

0.25 .30

Mean - 0.2874 Madian - 0.2873

038

0.1 o2 03 o4 o5

Mean = 0.242 Median = 02418

L] ~0.4 0.2

Mean = -0.3861 Modian - ~0.3847

-a -2 -1 o 1

-£

Mean = -0.1568 Madian - ~0.1108

=12 =1.0 048 0.6

Mean = -0.8027 Modian - <0.8014

3.0 =25 2.0

Mean = <2.3978 Modian = =2.3624

-B 4 -3 =2

Moan = -2.606 Median - -2.5452

Mean = -6.5435 Modian - -6.4692

o

-2 2 B 0 98

& 5 4

sex 52 (mild) ———> S3 (severe)

00 04

Mean = -0.5182 Madian = ~0.4301

0.0 a2 0.4 08 o8 1.0

Mean = 04505 Madian = 0.4924

Mean = 1.0387 Median - 0.9678

040 0s

Mean = -5.3311 Modian - -5.2845

04

2.0

T T T )
=11 =10 -8 -8 =7 -8 -5

Mean = -&.3847 Modian - 6 2832



Bi-monthly discretization of time
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logit P( obs. state 11 true state 2 ) legit P({ init. state 3 )
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Yearly discretization of time
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Bi-yearly discretization of time
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